Matematika pro ekonomy / Mathematics for economists
Domaci tkol 3 / Homework 3
Definiéni obor funkce / Domain of definition of a function

Urcete defini¢ni obor zadané funkce / Find the domain of definiton of the given
function:
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Reseni / Solution:

1. (—00,5) U (5,+00), 2. (=00, —1) U (2, +00), 8. (—00,3),
4. (—00, —3) U (=3,2) U (2, +00), 5. (—4, +00), 6. R, 7. (—00, —4) U (3, +00),
8. {— 1}u< ), 9. (=3,1) U (5, +00), 10. (2, +00), 11. (—o0, —3) U (3, +00),

12. (o0, —2)U (g, +00), 13. (—00, —5) U (—5,2), 14. R, 15. (-3, +00),
16. (—3,+00).

ONLY FOR STUDENTS OF THE CZECH COURSE — K dalsimu
poéitani: Na konci kapitoly 2 ze Zluté ucebnice, strana 62, v tloze 3 a-h urcete
defini¢ni obor zadané funkce (tedy zatim nikoli limity).



